EGT-G-GST
AT WLgga (9-99-110)

T ;A sfawem 3% ; 250

Wy -uE wEEe T sEm
(7 31 & 5 Fefafam FE w Fon amuris o)
ad w3 fom oo § W feedt ve il 9 0 el §
vt wA wfad )
ey & o Faa o 3w wE fie o

et & e 3 Wit anam § T W e, T 3 aned vdn-ua @ R o &, o T aem W o
IPE WE-HE-T (Fe o we) gfEw F qEmm w Fifte wm w i s il wives wem & st s
et e 8 el e oawm W o= s o TR

U UEN 1 9 10 o W1 I 150 TSl B 99 U HE 11 B 20 7% % T 250 I 8 3|
el H g wee-dia =) wrm | oy
TF-HE-IW g § Sl 88 T wE U Aem uw o oam woph e 3

GENERAL STUDIES (PAFER-III)

Time Allowed : Three Hours Masximum Marks ; 250

QUESTION PAPER SPECIFIC INSTRUCTIONS
(Please read each of the following instructions carefully before attempting questions)

There are TWENTY questions printed both in HINDI and in ENGLISH.

ALL guestions are compulsory.
The number of marks carried by a questionfpart is indicated against it.

Answers must be written in the medium authorized in the Admission Certificate which must
be stated clearly on the cover of this Question-cum-Answer [QCA) Booklet in the space

provided. No marks will be given for answers written in a medium other than the authorized
one.

Answers to Question Nos. 1 to 10 should be in 150 words, whereas answers to Question
Nog. 11 to 20 should be in 250 words.

Word limit in questions should be adhered to.

Any page or portion of the page left blank in the Question-cum-Answer Booklet must be
clearly struck off.
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1. “awin (tedea), Reaeda, aoin sy w1 T vfe ol (g frem el
(m@e Fio we) T WH FA F fom afrad ) v § wm e § g ol w feol it

(2 150 = | Sifan)

"Access to affordable, reliable, sustainable and modern energy is the sine gua non to

achieve Sustainable Development Goals [SDGs)." Comment on the progress made in
India in this regard. {Answer in 150 words) 10

2. FaW Fa@2, 2018-2019 F dnjwfaw {0 afem 5 (tme e sfie He) T wvim famm =
(Fle Flo dlo) % day § yrw FFw m wEE wfeds w ol S (3150 = E A
Comment on the important changes introduced in respect of the Long-term Capital

Gains Tax [LCGT) and Dividend Distribution Tax (DDT) in the Union Budget
for 2018-2019. (Answer in 150 words) 10

3, = gede geg (vHe wHe fle) § AW T wAEH A7 AW A944 199 w9 W e oam e |

feg wEn == =My (T 150 wed) § Hifem)
What do you mean by Minimum Support Price (MSP)? How will MSP rescue the
farmers from the low income trap? (Answer in 150 words) I0

4, Fl, wfea o wwE vl F g geen v § geemn) B gfre o wte fifsn) 3 R
1 T #1589 ven @ w3 1 (3 W 150 m=t B dfm)

Examine the role of supermarkets in supply chain management of fruits, vegetables
and food items. How do they eliminate number of intermediaries?
{Answer in 150 words) 10

5. Wle wekZ 4 419 2 e e -ageee el F w6 W ow=l fifa o geiw & e

TR i F A F wi o @ dn (IM 150 = & dfam)
Driscuss the work of ‘Bose-Einstein Statistics' done by Prof. Satyendra Nath Bose
and show how it revolutionized the field of Physics. (Answer in 150 words) 10

6. Tion Zeqa fen 1@ Tk e 3wt o feme o w1 P =3 8 s e 7 oo
e A ofdm e B oW @ s s ) giiea s @ e e e owwn B
(3m 150 7= @ Hifsn)

What are the impediments in disposing the huge gquantities of discarded =olid
wastes which are continuously being generated? How do we remove safely the toxic
wastes that have been accumulating in our habitable environment?

{Answer in 150 words) 10

T, AEME 0 R AW AT F ded 4 gfgwerpt avdm’ ) e wwe R e i) sme 3
TG FaE| F B FEEn § 3ty difam) (Im 150 W= § Afm)
What is wetland? Explain the Ramsar concept of ‘wise use’ in the context of wetland

conservation. Cite two examples of Ramsar sites from India.
(Answer in 150 words] 10
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13.

14,

fufem uma & van 'A6E o= ) AR T ¥ offiufe o afls T w-a T BV
(FW 150 =41 § difim)

Sikkim is the first ‘Organic State’ in India, What are the ecological and economical
benefits of Organic State? (Answer in 150 words)

iR -wifrs safi wfe (He de do o) B AR F g sty Ram T T 0w e
IEE % TF qEqE 9T ¥9 8 T W @ 3 He e do die w1 uw wiim wvi wign it s v
T IR TR wA % o fiemn (3 150 =it & Hifam)
The China-Pakistan Economic Corridor (CPEC) is viewed as a cardinal subset of

China's larger ‘One Belt One Road’' initiative. Give a briel description of CPEC and
enumerate the reasons why India has distanced itself from the same.

(Answer in 150 words)

Tl SmEE § w2 R, wg aeh off ¥ % aes wm e onfim § | amdd
TR T WG T i wm B owmm wen & e S wem 4 g hifie
(FW 150 w=] § difim)

Left Wing Extremism [LWE) is showing a downward trend, but still affects many
parts of the country. Briefly explain the Government of India’s approach to counter
the challenges posed by LWE. (Answer in 150 words)

w8 iy s gm s B o @ e R W F 9 A s Again e 8 R

R fim &7 (3 250 Tl § =ifam)
How are the principles [ollowed by the NITI Aayog different from those followed by
the erstwhile Planning Commission in India? (Answer in 250 words]

o =amm W A g =wEraE f e o gitemd e i weie-aniis e |

wE B wariEm =i (3m 250 w7t 3 4
How would the recent phenomena of protectionism and currency manipulations in
world trade affect macroeconomic stability of India? [Answer in 250 words)

=TEA EHE ¥ TeEs, I e vd e 8 9fy v | mim anEE e (\e wEe o)
yie %1 e Fifem) 9z Fed 6t o wme § w1 A 9a gen Y
(9 250 w=1 | difam)

Assess the role of National Horticulture Mission (NHM) in boosting the production,

productivity and income of horticulture farms, How far has it succeeded in
increasing the income of farmers? {Answer in 250 words)

T AN 0 T e wHel W oW 3 wen Y 8 fen wen ofteds o B 87 6R sme (P %
T sl Imim W oaw ) fremgds o fifkm) (T 250 W= § Aifem)
How has the emphasis on certain crops brought about changes in cropping patterns

in recent past? Elaborate the emphasis on millets production and consumption.
[Answer in 250 words)
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15.

16.

17.

18.

19.

20.

= = & T it 3 0 S Defiell % d A st wfifem &7 5o afeem S ademl W

FH Emy wiaEn #7 (T 250 W=t § diftm)
Why 1z there so much activity in the field of biotechnology in our country? How has
this activity benefitted the field of biopharma? (Answer in 250 words)

il =Rl g5 T & qihe w0 IAE F S AR S wmEEn A e ad wmn
aifge? Mivdm F=i § wafaa aa @ s F fEe i) (I 250 w=t # difdm)

With growing energy needs should India keep on expanding its nuclear energy
programme? Discuss the facts and fears associated with nuclear energy.
(Answer in 250 words)

uira # ha fafaum feo wen sem-aem o el BY sawfreme sfn wiftem & odem #@

4 v wfufEe, 2002 R =R T 27 (w250 w=E) 4 Hifae)
How does biodiversity vary in India? How is the Biological Diversity Act, 2002
helpful in conservation of flora and fauna? (Answer in 250 words)

iR # wwm wifEn S (e sme ame) % fom Hed smen sitfem =g e
(2015-2030)" wmyglE %4 § 90 U4 30 weE T o e e = avie i)  w wey
Wi T ved, 2005 @ e owwr B R (3m 250 w=E | i)

Describe various measures taken in India for Disaster Risk Reduction (DRR) before
and after signing ‘Sendai Framework for DER (2015-2030)'. How is this framework
different from Hyopo Framework for Action, 20057 (Answer in 250 words)

sifrrpn (fefemee) ghm O w9d 90 9 SO S FRO ST HEN R 9E 9Ed W9 T R

#fErg dte wRo dfipen winfa fdd 4 = ) wen # wafim @ W We-faEn o R s

w8 o wm 8 Bl o 6o gen @ gafie gn feid o) il o enfyal emown B
(Fe 250 et 4§ i)

Data security has assumed significant importance in the digitized world due to
rising cyber crimes., The Justice B, N. Srikrishna Committee Report addresses
issues related to data security. What, in your view, are the strengths and
weaknesses of the Report relating to protection of personal data in cyber space?

(Answer in 250 words)

HAT % T HEH 78 4w W 3 9 e | Wi o e 3 wmm & i guan e
=71 fon &1 Ao 2909l & 03y =R wH 9 399, O A R W e ee el e aEe
iataeE % Hm w=hm F1 e Fihm | ek w= s F e sn-wn gl s e oam
ey (zm 250 w=1 ¥ difew)

India's proximity to two of the world's biggest illicit opium-growing states has
enhanced her internal security concerns. Explain the linkages between drug
trafficking and other illicit activities such as gpunrunning, money laundering and
human trafficking. What counter-measures should be taken to prevent the same?
(Answer in 250 words)
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